Geometrical Reasoning GREEN

Diagram NOT
A accurately drawn

C
ABCD and DEFG are squares.
Prove that triangle €D&and triangle ADE are congruent.
CD = AD (sqa—ere ARCD a8 @oal
Sicke (@ascin>)
O =D& (samene DEFG Lo e
srcle La/\ﬁ&b\))_
CO G = ADE = 907+ ADG (S&Lu\wS e
al ogus A0°)

sas prowes Cromgles ore Conga2 L.

(Total 3 marks)

A, Band Care three points on the circumference of a circle.
Angle ABC= Angle ACB.
PBand PC are tangents to the circle from the point A,

(a) Prove that triangle APB and triangle APCare congruent.
PR =P (kevgess o2 Sova  poin \t)
pB= AC (iscsxbLs thomaW.
PRa = FPCA (ABC isoscees, BCP RSOSCQ—““-Q
SAS pro—e> Clonges ore . cormrlnt.
(3

Angle 8PA = 10°.
(b) Find the size of angle ABC.

1O 4 1o =207

QA 2=
360 — (290 +20) = 60"
(O =2 = o

| 8O - B = SO
2
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(Total 7 marks)
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Diagram NOT accurately drawn 6.

Diagram NOT accurately drawn
ABCD is a square. In the diagram, AB= 8C'= CD= DA.
BECand DCFare equilateral triangles.

Prove that triangle ADBis congruent to triangle COB.
(@) Prove that triangle £CD is congruent to triangle BCF.

: =C esoo A
FC = (Cotetaral Elongas Stna ap-cD (= | )
lergtdn &8 chWJa> AR = RC (qeesson)
CD =B¢ (ercre wscled G:‘{«°~‘> BT stweret oy oot enFogied,

o FCRB = D = 90+ 60

LS mrowes Enlonsies el CONSOab
L. T o
SAS proes Carwg S SO

3
Gis the point such that 8£6Fis a parallelogram.
(b) Prove that ED = E6
O = 8F (- CoNg o~k 6/\'5«/5@%\
&SF- Ce (PWQCOS(“M >
c. CD=EG.
@ (Total 3 marks)

(Total 5 marks)
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